PEUERE 101 § 5 B EBEHR
AR MHMIEE A F& BB R 7 A 258 3% 28 10:50-12:10

tB 0 L .
%"’E k#@iﬁ ‘Vz&}_z

1. 8o —RAREG BREKFEF Ok — Ao IE - 24 EABER
A REKHERSBZHMRIE ? (20%)

2.C—BHEIFR600pm X AR B R E A2 B100kW - £
3 FEGHEFHHE KD ? (20%)

3. Cho— A4 K1L00m > £251.0cm - %?LXfIS’QNzinﬁﬁﬁi%&&S#%
ZHN REBZERHARNEE? CAsE X KAEE7.0x10" N/ m? (20%)

4. —MBEERTZEEH1S0g 0 MERKTRBE S B120g - § bt
BUAEBREERB0.8g/cm’ Z BN » KMBZEFA N ? (15%)

S H—BEAI00°C > HEAS0gZEBREN—FHINN - Chosb TR NE
FE200gmBmE £A20°CeH K - FEBUHZARBE TS0 2 KU W - AiTée
RENLFHAN R EHRPHOBEH26°C » REZ LB ? Choshiz 1
#%0.11cal / g°C  (25%)

|3t (B




